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fare) TEREOBHBOEILHDOKRES TREFOHBERILHDOKRES TRFOBHOESLHDOKRES ITRFOHBERILHDOKRES
= = A\ E A\ | = = A\ = TR AN = | =
; 100kN/mM%#B % % - -~ - -|3mEHEZ D -~ - - -| 100kN/mi%#8 2% - -~ - -[3mEHEZ S -~ - - -
Zhllst 100|000 ~ 520 64.83 | #Fhust | 000 ~ 0.00|1.70 9.10 Zhllst 100|500 ~ 560 64.83 | Thst | 500 ~ 560 1.70 9.10
2 100kN/mM%#B % % - -~ - -|3mEHEZ B -~ - - -| 100kN/mi%#8 2% - -~ - -[3mEHEZ S -~
Zhllst 100|000 ~ 502 62.49 | #Fhiust | 000 ~ 000|162 8.66 Zhist 100|500 ~ 550 62.49 | ThS | 500 ~ 550 | 1.62 8.66
3 100kN/mM%#B % % - -~ - -|3mEHEZ B -~ - - -| 100kN/mi%#8 2% - -~ - -[3mEHEZS -~
Zhllst 100|000 ~ 476 59.32 | #hust oo ~ 476|177 9.47 Zhllst 100|500 ~ 500 59.532 | #hLlst 500 ~ 500|177 9.47
4 100kN/mM%#B % % - -~ - -|3mEHEZ B -~ - - -| 100kN/mi%#8 2% - -~ - -[3mEHEZS -~
Zhllst 100|000 ~ 498 62.08 | #heust | 000 ~ 000|169 9.03 Zhist 100|500 ~ 530 62.08 | Thist | 500 ~ 530 1.69 9.03
5 100kN/mM%#B % % - -~ - -|3mEEZ B -~ - - -| 100kN/mi%#8 2% - -~ - -[3mEHEZ S -~
Zhllst 100|000 ~ 326 41.56 | #hst | 000 ~ 326226 1211 Zhllst 100|500 ~ 500 41.56 | #helst | 500 ~ 500 226 12.11
P 100kN/mM%#B % % - -~ - -|3mEHEZ B -~ - - -| 100kN/mi%#8 2% - -~ - -[3mEHEZS -~
Zhllst 100|000 ~ 338 42.90 | Fhst | 000 ~ 338] 252 12.40 Zhllst 100|500 ~ 560 42.90 | #hilst | 500 ~ 560|232 12.40
- 100kN/mM%#B %% - -~ - -|3mEHEZ B -~ - - -| 100kN/mi%#8 2% - -~ - -[3mEHEZS -~
Zhllst 100|000 ~ 369 46.50 | Fhst | 000 ~ 369|225 12.02 Zhllst 100|500 ~ 560 46.50 | Thilst | 500 ~ 560|225 12.02
s 100kN/mM%#B % % - -~ - -|3mEHEZ B -~ - - -| 100kN/mi%#8 2% - -~ - -[3mEHEZ S -~
Zhllst 100|000 ~ 337 42.85 | #hst | 000 ~ 337]252 12.41 Zhllst 100|500 ~ 560 42.83 | #hLlst | 500 ~ 560|232 12.41
9 100kN/mM%#B % % - -~ - -|3mEHEZ B -~ - - -| 100kN/mi%#8 2% - -~ - -[3mEHEZS -~
Zhllst 100|000 ~ 337 42.84 | Fhst | 000 ~ 337252 12.41 Zhllst 100|500 ~ 560 42.84 | #helst | 500 ~ 560|232 12.41
100kN/mM%#B % % ~ ImEBZD ~ 100kN/M%#B% % ~ ImEHEAD ~
Zhllst ~ Zhst ~ Zhllst ~ Zhst ~
100kN/m%#B % % ~ ImEEZD ~ 100kN/M%#B% % ~ ImEHEAD ~
Zhllst ~ Zhst ~ Zhllst ~ Zhst ~
100kN/mM%#B % % ~ ImEBZD ~ 100kN/M%#B% % ~ ImEHEAD ~
Zhllst ~ Zhst ~ Zhllst ~ Zhst ~
100kN/m%#B % % ~ ImEBZD ~ 100kN/M%#B% % ~ ImEHEAD ~
Zhllst ~ Zhst ~ Zhllst ~ Zhst ~
100kN/mM%#B % % ~ ImEBZD ~ 100kN/M%#B% % ~ ImEHEZD ~
Zhllst ~ Zhst ~ Zhllst ~ Zhst ~
100kN/m%#B % % ~ ImEBZD ~ 100kN/M%#B% % ~ ImEHEAD ~
Zhn st ~ Zh st ~ Zhn st ~ Zh st ~
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